B T VAR T
FRIBQD - [ ] /@
gea-140101 [{NAANNAININIORER
@ To&E, XULXAAEEARSHAKRIIVEES LOOBBELHHE § v o
-t DT, (65 %X6)
RO AEF L 00 Y 5T
LA ] ] ¥ N
. 7PN m A E | Ao ) 3| o
AT 3 | 2
g =z 2 4 | 10
I 6 5 7
A9 2w 7| 5 0 4 )
N ||
() EOFOHNTNBY ZAHITERE DT X\,
)
2) JINTRERSTHEEFTEDIL, TASNTENT T 9,
)
B A9 =V %7 0L, HARNTEUEFR-SIHF L A5y
)
(4) HWTHBITAZLS AT A-ETEDOIIFETT 5,
)
B) TEEZWEITAZ LRSI AESGAMILIE I TT 5,
)
6) £FLDEVEITAZ LR LSAMIIIE 2 TT 5y
)
FEDE R T, BALI (7 5%x2)
() T7HFEL 2T =L EL LT AL, INLR Y —
FIAT b, FF [FH0
( ) v w5 | 18 5
- . . N R \ . -H—
2) THFIFETNLRI =D F LA, s 12 | 3

FIATH D,




NEEH

S ET L
BIBO LM B4-1401501
(1) RO 2>t DDA 5T ) | lr=
PN A1 . N o x
- BAIT| A it i3 &3t 3) | U 3
x5 3 | 2 | 7 4) Tt
=D 2 4 | 3 0 ) 78
Tk | 6 | 5 | 7 | 19 6) i3
A=Y 5 0 4 2 ||
N K I 12 13 47
(1) 18A (2 5A




NEEH

FryZFRR 2 ]
B4-1401501
B
B7 . i %3 N
1 & PP e 1| o st i3 53
AT H 3 | 2 I @
g =3 y) 4 | @ 10
T F @ 6 5 (4) 7 (5) @
t9<2v %73 5 0 4 2 @
& 5 1| ®% ® | 99 @
(1) 3+ 1+2+1=1 @ 10— (24+4+1)=3
|| —(34+24+5) =1 @ H+6+5+T7=1+6+5+7=19

2+ 1 +5+4=12
D+ 10+@+@=T+ 10+ 19+ || =47

@
©
@ 5+0+4+2=1|
®
®

AMTRSTEE T L DODEE,
FTOEOHDEH D,
TI 2 x 7 DEEIL, Lok

DHDETH b,

T %,
KLY, TOWEILAZ AT

FEXILOIE, TE,
LY, TEERVWEITAEZ RO AT,
xLY, FFt0EEITAE L RO %I,

RO

@ |I+4+6+0=1]
@ 1+@O+T74+2=1+3+7+2=13

{5
3

THXENLZAI =L CE L AT T AL,
EDEDODODETH A, L -7,
THXLSEFEFTNLRT —HEF L O AL,
EDEDQDODERTH5, -7, 5A,

fr g IS S S /N =
& B AIE| ] pic) B il
AT 7 | 2 I 7
9= 2 4 | 3 [0
I t | 6 5 7 |9
r9=2vx73 5 0 4 2 [
& E [ |2 |3 47
5750
Lo
INLR Y —
18 A, FE | FHLO
v s V18 U5
.H-
¥ |Fb6\v |2 3




